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BoKEMERT B ERYE T H=600 | BRE(D 055 m X 0.708 m 1525 m = 59.38 m3 59
BERLT FEFYT| HED 055 m X 0.248 m 1525 m = 20.80 m3 21
MBERLT £+ | EOD 055 m X 0290 m 1525 m = 2432 m3 24
EtuMET 59.38-24.32 = 3506 m3 35
TRERET t=10cm | RC-30 055 m X 1525 m = 83.88 m2 84
LERET t=8cm M-30 055 m X 1525 m = 83.88 m2 84
RAsEHEET t=3cm FE L 055 m X 1525 m = 83.88 m2 84
AIEIBAsEHET t=4cm R 075 m X 1525 m = 114.38 m2 114
AsEHE I T t=4cm 1525x 4 = 6100 m 610
AsERiZERRBE R T t=4cm 055 m X 1525 m = 83.88 m2 84
RAsEHZE IR A T t=3cm 075 m X 1525 m = 114.38 m2 114
AsTHZEFLERR- LN T 114.38 X 0.04+83.88 x 0.03 = 7.08 m3 7.0




HKEMEL MR YE T H=600 | Asffjit 055 m X 0.686 m 160 m 6.04 m3 6.0
HEWIERLT HEFYT 055 m X 0.226 m 160 m = 199 m3 2.0
HmERLT H=600 055 m X 0290 m 160 m = 2.55 m3 2.6
BLET 6.04-2.55 = 349 m3 35
TERET t=10cm | RC-30 055 m X 160 m = 8.80 m2 8.8
LERET t=8cm M-30 055 m X 160 m = 8.80 m2 8.8
RAsEHZE T t=3cm AL 055 m X 160 m = 8.80 m2 8.8
A{EIBAsEHET t=4cm ZHI 075 m X 160 m = 1200 m2 12.0
AsEli =R U1 T t=4cm 40%16 = 6400 m 64
AsEHEEhRBER T t=4cm 055 m X 160 m = 8.80 m2 8.8
R AsE 2= iR Bl 1 T t=3cm 075 m X 160 m = 1200 m2 12.0
AsEHEEERR -0 T 12.00 X 0.04+8.80 x 0.03 0.74 m3 0.74
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BoKEMERT B ERYE T H=600 | BFE®@ 055 m X 0720 m 386 m 1529 m3 15
HEmERLT FEFYT| @ 055 m X 0.260 m 386 m = 552 m3
MBERLT £+ | BHEOQ 055 m X 0290 m 386 m = 6.16 m3
EtuMET 15.29-6.16 = 9.13 m3
TRERET t=10cm | RC-30 055 m X 386 m = 21.23 m2 21
tERET t=8cm M-30 055 m X 386 m = 21.23 m2 21
RAsEHZET t=3cm FE L 055 m X 386 m = 2123 m2 21
AIEIBAsEHET t=4cm R 075 m X 386 m = 28.95 m2 29
AsERZERR U1 T t=4cm 38.6 X 4 = 1544 m 154
AsERiZERRBE R T t=4cm 055 m X 386 m = 2123 m2 21
RAsEHZE IR A T t=3cm 075 m X 386 m = 28.95 m?2 29
AsTHZEFLERR- LN T 28.95 x 0.04+21.23 X 0.03 = 1.78 m3 1.8




HKEMEL MR YE T H=600 | Asffjit 055 m X 0.686 m 10 m = 0.38 m3 0.4
HEWIERLT HEFYT 055 m X 0.226 m 10 m = 012 m3 0.1
HmERLT H=600 055 m X 0290 m 10 m = 0.16 m3 0.2
BLET 0.38-0.16 = 022 m3 0.2
TERET t=10cm | RC-30 055 m X 10 m = 055 m?2 0.6
LRERET t=8cm M-30 055 m X 10 m = 055 m2 0.6
RAsEHZE T t=3cm AL 055 m X 10 m = 055 m2 0.6
AREIBAsEHET t=4cm BRI 075 m X 10 m = 0.75 m2 0.8
AsTlEE kR U] T t=4cm 4.0% 1 = 400 m 4
AsEHEEhRBER T t=4cm 055 m X 10 m = 055 m2 0.6
R AsE 2= iR Bl 1 T t=3cm 075 m X 10 m = 0.75 m2 0.8
AsEHEEERR -0 T 0.75 X 0.04+0.55 x 0.03 0.04 m3 0.04
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BoKEMERT KRR T H=600 | BFE®Q 055 m X 0720 m 56.0 m 2218 m3 22
MBERLT FEFYT| @ 055 m X 0.260 m 560 m = 8.01 m3 8
MBERLT £+ | BHEOQ 055 m X 0290 m 560 m = 893 m3 9
EtuMET 22.18-8.93 = 1325 m3 13
TRERET t=10cm | RC-30 055 m X 56.0 m = 30.80 m2 31
LERET t=8cm M-30 055 m X 56.0 m = 30.80 m2 31
RAsTHZE T t=3cm FE L 055 m X 56.0 m = 30.80 m2 31
AIEIBAsEHET t=4cm R 075 m X 56.0 m = 42.00 m2 42
AsERZERR U1 T t=4cm 56.0 X 4 = 2240 m 224
AsERiZERRBE R T t=4cm 055 m X 56.0 m = 30.80 m2 31
RAsEHZE IR A T t=3cm 075 m X 56.0 m = 42.00 m?2 42
AsSHEFREW -0 T 42.00 X 0.04+30.80 % 0.03 = 260 m3 2.6




HKEMEL MR YE T H=600 | Asffjit 055 m X 0.686 m 50 m = 1.89 m3 1.9
HEWIERLT HEFYT 055 m X 0.226 m 50 m = 0.62 m3 0.6
HmERLT H=600 055 m X 0290 m 50 m = 0.80 m3 0.8
BLET 1.89-0.80 = 1.09 m3 1.0
TERET t=10cm | RC-30 055 m X 50 m = 2.75 m2 2.8
LRERET t=8cm M-30 055 m X 50 m = 275 m2 2.8
RAsEHZE T t=3cm AL 055 m X 50 m = 275 m2 2.8
AREIBAsEHET t=4cm BRI 075 m X 50 m = 375 m2 3.8
AsEli =R U1 T t=4cm 40x5 = 2000 m 20
AsEHEEhRBER T t=4cm 055 m X 50 m = 275 m2 2.8
R AsE 2= iR Bl 1 T t=3cm 075 m X 50 m = 375 m2 3.8
AsEHEEERR -0 T 3.75 % 0.04+2.75 x 0.03 023 m3 0.2
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BeKEMET ® 40 BrE @ 055 m X 0.708 m 58.3 = 2270 m3
Bt ERIE T ®50 BREQ 055 m X 0720 m 48.2 19.09 m3

& &t 22.70+19.09 4179 m3 42
- spE Ty &:ﬁﬁ@ 055 m X 0248 m 58.3 = 795 m3
HWERLT BER 055 m X 0.260 m 48.2 6.89 m3

& &t 7.95+6.89 1484 m3 15
P WrmE 055 m X 0290 m 58.3 = 9.30 m3
HWERLT BER 055 m X 0290 m 48.2 769 m3

& &t 9.30+7.69 16.99 m3 17

KRIAET 41.79-16.99 = 2480 m3 25

TRERET t=10cm | RC-30 055 m X 1065 m = 58.58 m?2 59

TERET t=8cm M-30 055 m X 1065 m = 58.58 m?2 59

RAsEHZET t=3cm FE L 055 m X 1065 m = 58.58 m?2 59

AEIBAsEHET t=4cm R 075 m X 1065 m = 79.88 m2 80

AsERZERR U1 T t=4cm 106.5 % 4 = 4260 m 426

AsERiZERRBE R T t=4cm 055 m X 106.5 m = 58.58 m2 59

RAsEHZE IR A T t=3cm 075 m X 1065 m = 79.88 m2 80

AsEHEREMR- LT 79.88 X 0.04+58.58 X 0.03 = 494 m3 4.9




HKEMEL MR YE T H=600 | Asffjit 055 m X 0.686 m 140 m 528 m3 5.3
HEWIERLT HEFYT 055 m X 0.226 m 140 m = 1.74 m3 1.7
HmERLT H=600 055 m X 0290 m 140 m = 223 m3 2.2
BLET 5.28-2.23 = 3.05 m3 3.1
TERET t=10cm | RC-30 055 m X 140 m = 7.70 m2 7.7
LERET t=8cm M-30 055 m X 140 m = 7.70 m2 7.7
RAsEHZE T t=3cm AL 055 m X 140 m = 7.70 m2 7.7
A{EIBAsEHET t=4cm ZHI 075 m X 140 m = 1050 m2 11.0
AsEli =R U1 T t=4cm 40x% 14 = 56.00 m 56
AsEHEEhRBER T t=4cm 055 m X 140 m = 7.70 m2 7.7
R AsE 2= iR Bl 1 T t=3cm 075 m X 140 m = 1050 m2 11.0
AsEHEEERR -0 T 10.50 X 0.04+7.70 X 0.03 0.65 m3 0.7
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BeKEMET ®50 B E @ 055 m X 0720 m 41.2 = 16.32 m3
Bt ERIE T ® 40 ErE® 055 m X 0.708 m 81.9 31.89 m3
& &t 16.32+31.89 4821 m3 48
- spE Ty I&??E@ 055 m X 0260 m 41.2 = 589 m3
BWIERLT BED 055 m X 0.248 m 81.9 1117 m3
& &t 5.89+11.17 17.06 m3 17
P W@ 055 m X 0290 m 41.2 = 6.57 m3
HWERLT BED 055 m X 0290 m 81.9 13.06 m3
& &t 6.57+13.06 19.63 m3 20
HLIMET 48.21-19.63 = 28.58 m3 29
TRERET t=10cm | RC-30 055 m X 1231 m = 67.71 m2 68
LERET t=8cm M-30 055 m X 1231 m = 67.71 m2 68
RAsEHZET t=3cm FE L 055 m X 1231 m = 67.71 m2 68
AIEIBAsEHET t=4cm R 075 m X 1231 m = 92.33 m2 92
AsERZERR U1 T t=4cm 1231 x 4 = 4924 m 492
AsERiZERRBE R T t=4cm 055 m X 1231 m = 67.71 m2 68
RAsEHZE IR A T t=3cm 075 m X 1231 m = 92.33 m2 92
AsSHEFREW - T 92.33 X 0.04+67.71 X 0.03 = 572 m3 5.7




HKEMEL MR YE T H=600 | Asffjit 055 m X 0.686 m 120 m 453 m3 45
HEWIERLT HEFYT 055 m X 0.226 m 120 m = 149 m3 15
HmERLT H=600 055 m X 0290 m 120 m = 191 m3 1.9
BLET 4.53-1.91 = 262 m3 2.6
TERET t=10cm | RC-30 055 m X 120 m = 6.60 m?2 6.6
LERET t=8cm M-30 055 m X 120 m = 6.60 m?2 6.6
RAsEHZE T t=3cm AL 055 m X 120 m = 6.60 m2 6.6
AREIBAsEHET t=4cm BRI 075 m X 120 m = 9.00 m2 9.0
AsEli =R U1 T t=4cm 40%12 = 4800 m 48
AsEHEEhRBER T t=4cm 055 m X 120 m = 6.60 m2 6.6
R AsE 2= iR Bl 1 T t=3cm 075 m X 120 m = 9.00 m2 9.0
AsEHEEERR -0 T 9.00 X 0.04+6.60 x 0.03 055 m3 0.6




